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5. ¢ dF 7,365 1,000 6,365
1.8 w8 0 1,000 -1,000
1. 105890 0 1,000 -1,000|2F719+¢] 2 4=Au]  0-1,000,000= -1,000,000
2.8 e & el ul S 6,365 0 6,365
1.+9+% 2,640 0 2,640 (A HA)ZFAIE] 30,0000 < 143] < 47] wk= 1,680,000
PADNRE! o] 3 0
AR (30,0009 < 223] x 47) 1t 960,000
)-1,680,000=
2. W9 405 0 405 (AP A)BAZETLQ 101,250 X 47 Hk= 405,000
3. E 4] 3,320 0 3,320/ (A gR)etr| 7991 110,666 X 307)= 3,320,000
3.91E =AY 1,000 0 1,000
A 2] T oA sEn 2 =z}
135 ) 1,000 0 1,000 (AHAmAAGREN 10,00021>10078 1,000,000
6.9 g5 23,587 600 22,987
1. 03 600 600 0
1. 05y 600 600 0
2.9 3} AAF A8 (54) 22,987 0 22,987
A7) o] 3] 3 A LA} 1A
17127 29 Q17 H) 22,987 0 22,987 (8d) ‘Mﬂﬁf; 2k ] 6,660,000
=2,220,000¢ <34
(A FH) G o3| L7 1n]
6,660,000
=2,220,0009 x3¢¥
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400,0009 < 1=
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AYAVAS]| B2 Q9 olAn =
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(A F) RS2 N wSu] 50,0009
n8-9-aln ’
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SR 3 e 2n Ko}
(o?ﬁ)qfﬂﬂiuﬂ 1 1,410,000 1,410,000
X 13]=
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1.5 A9 H] 2,200 0 2,200/ (A BA) =AY 8,000 X275 = 2,200,000
8.8218hd 9 (H4) 2,000 0 2,000
1. 0529 2,000 0 2,000 (B FHHAAALEE 15,0009 X 203]= 300,000
AR ITFLAZTFY 52,2009 X108]= 522,000
(A EBx)aFER] 165,000 X 2th= 330,000
(AHA)AEH 848,000 < 138]= 848,000
9. WHFAFATI(EH) 300 0 300
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(4 PA)7hEsH] 100,0009 X 13]= 100,000
(AEA)AEHE 30,0009 < 13]= 30,000
(A FBA)AER] 100,000 X 13]= 100,000
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2. 83w S - E AN 15,950 16,500 -550
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5. G ol AL 1,720 1,720 0
1. 05290 1,720 1,720 0
6. 3374 A ) 3] 960 960 0
1. 052 H| 960 960 0
7.47) 0 3 3,936 2,400 1,536

1.+99% 1,536 0 1,536| X101 219 ZFAH] 32,000%) X 2A] 7F < 24.3]= 1,536,000
2. &5 o n) 2,400 2,400 0
8.3 43 &5 A 3,870 3,870 0
1. 05890 3,870 3,870 0
9.3 8AA AgH] A 1,800 0 1,800
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;ﬁ%ﬁ)x}%%om A1 100,0009 X 14 1,400,000

(;iﬁ;d:v}x]%% THEE T 4,0009 84000
2. A A5 52,924 51,709 1,215
1.9 34,084 33,764 320

1,091 1,120 800 320 Eifgg;iﬂl (20,000 > 2878 > 23] 320,000
2. l&$odn) 32,964| 32,964 0
2.8 3 18,840 17,945 895
1.994] 840 840 0

2. 5G| 18,000 17,105 895|<ukH]  0-2,821,000= -2,821,000
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2] 0-3,584,000= -3,584,000

(A P28 4,300,0009 < 13]= 4,300,000
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1.105%9n) 3,600 3,600 0
2.8FA B2 1) 1,440 1,440 0
2. A 2dgA % 7,200 10,400 -3,200
ra P o E AAITE WAl Z-7}n
1.9k gn) 200 400 o0 BX7HTE AR ET WA A7l ~200.,000
0-200,000=
A»xFF9-E FH3A3FE =718
2.3 B A1) 7,000 10,000 -3,000 A7k E AT 7 -3,000,000
0-3,000,000=
3.ulakulA AA zy] T2 AESE 1,000 0 1,000
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2. S99 600 0 600 ("4 ©71)EA7EA 1] 120,000 X 58 54= 600,000
4. St =FY FFH 7,230 0 7,230
A1 2] 7 (s} SZ1oly ol 10
135 7,230 0 7,230 E FHDASEETUR 273,0008>10% 2,730,000
S Z4 3] @oln
(o‘a‘{)ﬁuﬂr’ﬁﬂ %91 100,000 2,700,000
X278} 5=
(A EA)SHAAZE2E] 450,0009 <25 3= 900,000
(AEAWNBZHH] 225,000 <43]= 900,000
4. 728 6,200 9,388 -3,188
1. Z2A =8% 2,080 3,080 -1,000
1. 0529 2,080 3,080 -1,000| A =285 =91 0-1,000,000= -1,000,000
2.XNEAIS T 4,120 6,308 -2,188
A2 A3 e Loln 9] 5
1,309 & on] 4,120 6,308 2,188 S AAE wgul (272,000€ <103) -88,000
)-2,808,000=
] 3| [oa ol 2~ 0]l Z}n
AZAF TG W 2=QAA] ~2.100.000
1,400,000-3,500,000=
A w8 s 542,183 388,560/ 153,623
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1.&95% 37,440 37,440 0
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of A1 7413 (b9l + <)
A4 A A 714 H ol - -
A=V =()
AL AL Ca e P PR I B e e M s
2.901% 53,280/ 53,280
1.+949 53,280/ 53,280
3.8 7] % 14,400 14,400
1.&99% 14,400 14,400
1. EFEY 20,880/ 20,880
1.2949 20,880/ 20,880
5.2k 18,720 18,720
1.&99% 18,720 18,720
6.5 18,720 18,720
1.&99% 18,720 18,720
7. 229 2 2 H A F 8,280 8,280
1.&99% 8,280 8,280
8. AR 14,400 14,400
1.&99% 14,400 14,400
9. 5ol 20,880 20,880
1.2949 20,880/ 20,880
10. 3] o} B 20,160/ 20,160
1.&94% 20,160 20,160
11.Hfo] & 20,880/ 20,880
1.2949 20,880/ 20,880
123 A =7 20,880 20,880
1.2949 20,880/ 20,880
13. 4] o] kA7 18,720 18,720
1.&9% 18,720 18,720
14. &5 17,400 17,400
1.&9% 17,400 17,400
15. 5A=s 15,120 15,120
1.+949 15,120 15,120
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(AEA)LFe]l =1,954,0009 <19 1,954,000
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(AHDA RS 7R EE =133,0009 133,000
X1
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(AEADAINESY 71 3EFE (554,0009 190,000
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(AEA)RFFHEAH] =400,0009] < 19 400,000
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22 220l QT T E10] S
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1. 15890 9,202 0 sa,zoz("‘?éh)ﬁﬂ”_r g2 W) 5,400,000
5,400,0009) X 13]=
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3,802,0009] < 13]=
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1. 3289 n) 10,747 6,600 4,147/ 98 F  (633,3309 x3353)-1,200,000= 700,000
Z=0] Q 3T <) = 1
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